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' CONTINUAL ASSESSMENT 1 - 2013
PRIMARY 6
MATHEMATICS
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Section A (‘20-marks]‘;

Questions 1 to 10 carry t mark each.

" Questions 11 to 15 carry. 2 marks eachi.

For each question, four options are given. One of them: is the cotrect answer.
Make your choice (1, 2, 3 or 4) and shade the oval (1,2, 3 or 4) on the
Optical Answer Sheet. B

1. 6 hundreds, 7 tenths and 9 thousandths is

(1)  670.009
2) 600970
(3) 600709 .

(4)  600.079

2. ~2- e E is the same as
3 5

@ 2
@ 5%



3.

Express % as a percentage.

(1)

(2)
(3)
(4)

1

oo | L

(1)
@)
3)

{4)

0.024%
0.24%
2.4%

24.0%
- 48

6
16
18

24

Hartry and.-Sunny had. a total of 39 stickers. The ratio of Harry's stickers to
‘Sunny's.stickers was 4 : 8. How many more stickers had Sunny than Harry?

M
(2)
(3)
(4)

12

13

15

27

Rene has the same number of $2 notes and $5 notes. Their total value is
$56. What is the value of all her $2 notes?

(N
)
3
(4}

$14

- $16

$28

$40




7. Mdm tee used %kg of flotir-to bake 5 simitar cakes. How many kil’ograms of

flour did she use to bake 2 such cakes?

|
1) —kg
(1) e
@ kg
15 J
. 2
3 —k
(3) T
2
4 =k
(4) 5 k9
8. Candy séo_red 60 marks for her first test and 75 marks for -hef- second test.

Each test was out of 100 marks. Find the percentage increase in hef score.

(1 15%
() 20%
@ 25%

(4) . 80%

. 9. Sally had as many red beads as green beads. She used -;11-. of her red beads

and % of her green beads for a necklace. What fraction of her beads had she

left?
1
(1 )
(2 3
5
(3) 3
3
4) 1



'. 21;- of Ken S sa[ary is i of John s salary. What is the' ratio of John's salary to
Ken's salary?

1} ‘1:20-
2) 20:1
3) 5:4
4) 4:5

Study the figure below carefuliy (not drawn to scale). Find the area of the
shaded triangle. -

(1) 36 cm?

(2) 45cme

3) 54-cm? -
(4) 90 cm?

“For every —;— of the wall that Helen painits, Joan will paint % of it-What

fraction of the wall will Joan paint if Helen paints% of it?

M
@ =
@ 1
@




13.

14,

15.

Amanda ahd Darren shared the total cost of a present. Amanda paid $25

more than %— of the cost of the present. Darren paid $65. How much was the.

_present?
(1) $150
(2) $180
(3) $225
4)  $270

There were 40 children at a birthday party. 30 of them were girls. How many

percent more girls than boys were there?.

(1) 25%
(2) 50%
(3) 200%
(4)  300%

Jenny has some blue and red marbles in Jar A- and Jar B. Each jar hasthe
same number of marbles. The number of blue ‘marbles- to the number of red

A-marbles inJarAis 1 : 2 while thatin Jar B is.4 : 6.

What is the ratio of the total number of biue marbles to the total number of red
marbies that Jenny has?

(1 13
@ 25
3 &7
@ 7



Sgcti_c';h; B (20 marks) | | .
Questiors 16t 25%¢arty 1 mark édch. Qiiéstions 26'to 30 carry 2 mairks each.
For each question from 26 to 30, show your workings clearly in the space below

it and write your answer in the space provided. Give your answers in the units
stated.

16. Express 10%-:%)513 a decimal,

Ans:

17.  Express 9 months as a fraction of 3 years in the simplest form.

Ané :

18.  Mrs Worig can exchange 300 coupons for 200 stickers at a shop.
How many stickers can she exchange 900 coupons for?

Ans : _ stickers




19. - Lilyand Méy shared a sum of money'in the ratio 18 : 7.
- WWHat percstitage of the sum of money did May receive?

Ans: %

20.  The ratio of Ali's money to Ben’s money to Clara’s money is 1:2:3.

What is the ratio of Clara’s money to the total amount of money that the three
children have'? {(Write. your answer in the simplest form)

AI‘IS :

21. The figure below is made up of 9 identical squares of sides 2 cm each. By

rearranging the squares in the figure, form-a rectangle which has the largest’
possible perimeter. Find thé perimeter of this newly formed: rectangle.

2cm
<P

T

Ans: __tm



22. Mirs Phua saved a tofal of $70 in the fi rst 5 months She saved $50 in the saxth
month. On the average, how much did she save inamonth?

Ans:$

23.  The figure below (not drawn to scale) is made up of an equilateral triangle
and a rectangle Find the sum of A aandZb.

n : | . Ans: °

24, At.a pet shop, the price of a swordtairis--% the price of a catfish. The price of

a guppy is half the price of a swordtail. What is the ratio of the price of a
_catfish to the price of a swordtail to the price of a guppy?

Ans




- 25. A faulty cloek gains i;-min- each day. How long does the clock take to gain

Y he
4

Ans: _ . May(s)

26. ParcelAis -é— as heavy as Parce! B. Parcel B is % as heavy as

Parcel C. How many times is Parcel C as heavy-as Parcel A?

" Ans: : fimes

'27.  Sara went shopping. with $300. She spent 35% of her money on a skirt and
. 30% of the remainder on a bag. How much did she spend on the bag?

Ans:$




'28}. Mrs Wong bought a total of 42 curiy puffs and tuna puffs. After giving away.
27 curry puffs, there were % as many curry puffs as funa puffs left. How

many eurry puffs did Mrs Wong buy?

Ans;___ curry puffs
29. Look at the number line below.
2. 3
5

10 A B
1 : - ] 2 i

A is exactly midway of % and % B is exactly midway of A and %

Whait is the value of B?
Write your answer in the simplest form,

Ans:

30. A squaré‘ was enlarged so that its length on éach side was tripled. What
was the percentage inerease inits perimeter?

Ans: %

End-of-Paper 1 |
.. Remember to check your work
: 10
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Paper 2:{60-marks)
Giestions 1 to 5 eafty 2 maiks edch. Show your workings clsarly in the space belw it

and’ Writ‘e‘yqur'én'swer in the space provided. Give your answers in the units stated.

1. Ata fruit stall, durians weré sold af $11.00 each. Marcus had $183.20.
What is the most number of durians that he cotild buy with all his money?

Ans: ddrians

2. Shawn wrote some consecutive numbers starting from 1 on a piece of paper.
He stopped after writing 89 digits. What was the last 2-digit number that he
wrote? o o

1, 2, 3, 4,00, |9
1 digit 2" digit, 3"“digit 4"digit  LastNumber
h * Total: 89 digits - i

Ang:

3. At a parly, there are 288 more girls than boys. The number .of girls is 66% of
-the total number of children at the party. How many children are there at the

party?

* Ans: children



4, Judy.spent 3 days making some kites for sale. Each day she made 4 kites more
than the day before. She made a fotal .of 42 kites. How many kites did she make
on the first day?

Ans:_ : kites

5. Ann and Sherry have some twe_hty-cenf coins'in the ratio2:: 9 respectively.
If Sherry has $14 more than Ann, how much does Sherry have?

Ans: § .




For each question from 6 to 18, show your workings clearly in the space below it
and write your answer in the space provided. The number of marks available is
shiown i bracketS [ - ] at the'énd of each guéstion or part-question. :

. Remember to'include tfig units wherever possible.

6. Alice has a 12m ribbon. She cut it into shorter pieces of %m each.

. How much did Alice receive if she sold alt the %m ribbons at $0.55 each?”

 Ans. Rzl

7. Danny hasread 368 'pagés of a-book. He plans to finish reading the rest of
thé book in the next 9 days by reading the ‘same number of pages each day. If
he completes-36% of the book in the next 6 days, how many-pages are there
in the hook? |

Ans: - [3




The ﬂgure below i is the top. vnew of a solid ﬁgure The sohd ﬁgure is-made up of
3 layers of identical cubes with a single cube at the.top layer.

(@ How many cubes are there in the solid ft gure‘7
(b} H the solid figure has a volume of 896 c¢m?, find the length of each cube.

Ans (a)_ | 1]

©__ _[2]

Allison kept 1075 beads into four jars, labelled A, B, C and D. Jar A had the
least number of beads and. Jar D-had the most. The difference in the number of

_beads between Jar A and the number of beads in the other jars were 35, 65
“and 85. How many beads are there in Jar A?

Ans:_ - 31




10.

11,

26 scouts spread themsefves out evenly along a hikirig route.- A scout can be

found after every = km of the routé. Find the distance befween the first and the

last scout

Ans: i31°

Mr Lee had 12 tins of biscuits. At first, each of the tins contained the same
number of ‘biscuits: He took 33 biscuits from each tin. After that, thé:} total
number of biscuits left in the 12 tins was equal to the total number of biscuits

in 3 of the fins at first. What was fhe number of biscuits in each tin-at first?

Ans: . (3]



) '1‘2.' | A shop..'seil's_a.ﬁle for $28@ it_g:i__\'re's- a 25% discount for every 42ﬁl‘es bought -
' during a sale. Hatta paid $154 for some files during the sale, what was the most
number of files hie bought? '

Ans: [4]




13,

| have some red and biue countersina box

[ add in 20 red counters, the ratio of my: red counters fo miy blue couniers
becomes 2 : 3.

Then | add in another 60 blue counters, the ratio 'of my red counters to my blue
counters becomes 1 : 3. '

How many couriters de | have in the box at first?

Ans: __ |




4.  l'do not have enough: saving_é nowto buy: a bag. If | increase my savings by
30%, | would need another $1. If | increase my savings by 40%, | would have
$34 more than | need. What is the cost of the bag?

Ans:__ __ 4]




15.

The ratio of Glen's beads to Helen’s beads fo Liz's beads is 6 : CEREM: Glen's
beads is reduced by 10% and Helen’s beads is increased by 10%, the new fotal

number of beads that the three of them-have i is 4734. Find the number of beads
that Liz has-

Ans: . 5]




- 16.

Peter had s'drﬁ"e"‘ stamps, He la liét% of them and gave 111 of the remainder to Ali:

After that, his brother gave him 120 stamps.

The ratio of the number of stamps he had at first fo the number of stamps he
had at the endwas 4 : 3.

How many stamps did Peter have at the end?

| Ans: - [5]

10




17..  The figure below: consist"s*_of‘ a circle, @ rectangle and an isosceles- triangle

overlapping one another. The ratio of the area of the circle to the area of the
triangle to the area of the rectangle is 7 : 5: 3. % of the triangle is shaded.

The overlapped area of-the circle and the triangle is :1- the area of the circle.
The overlapped area of the circle and the rectangie is % the area of the circle.

What percentage of.the figure is unshaded? Give your answer in 2 decimal
places. -

| Ans: : .. .[5]

11



.. 18. . There were someftéiﬁité}lt c’oms and fifty-ceht &oing in &' piggy bank. Tﬁ;a;
number of ten-cent coins in the piggy bank was —;— the number of ﬁfty-cent
coins. Ahmad took out 5 ﬁfty'-ce'ﬁt' Coins él‘;d' e)kchaﬁged: them for ten-cent coins.
Then he put the mone"y,backi‘nto_.th.t_ia‘ piggy bank. The number of fifty-cent cbi’ﬁs
‘became —Z— the number of ten-cen'fcl. coins. Ho;/v muc'h mone.y was there in the |

piggy bank?

| Ans:_ <a (5]

~ End of Paper-é
Remember to check your work.

12




EXAM PAPER 2013
SCHOOL : ‘NAN HUA
SUBJECT: PRIMARY 6 MATHEMATICS

TERM : CAl

01| Q2|03 |Q4 | Q5 Qb Q7 | Q8 | Q9 | Q10 Qi1 Q121 Q13 0141 Q15
1 .

‘3'-_ 4 4 ‘3'_ _3 2.- 3. 3 |3 -4 1 3 _ 3 4
16)0.105 17)Va 18)600 stickers 19)28% 20)1:2
21)40cm 22)$20 - 23)120° 24)16:10:5 25)60 day(s)
26)12 times 27)$58.50 28)33 curry puffs 29)%2  30)200%
Paper 2

1)$183.20+$11= 16durians

2)89 —9 =80
80=-2=40
40 +9=49

3)100 — 66 = 34
66 —34=32
32u—>288
1u>9
100u~>900 children

Pagelto3 pagel



4)42--3 = 14 (average)
10 14 18

- average
Ans: 10 kites -

5)$1.80 —$0.40 = $1.40
$14--$1.40 = 10
$1.80 x 10 = $18

6)12/1--2/5=12/1x5/2 =30

30 x $0.55 = $16.50

7)3/50 x 9/1 = 27/50
36823 = 16.
16-x 50 = 800

8)a)9 +4+1=14
h)64 = 4x4x4
= 4cm

9)35 + 55+ 85 =175
1075~ 175 =900
9004 = 225

10)3/5km = 600m
26-1=258
25 x 600 = 15000
15000m = 15km

11)12u-396 = 3u
12u =3u + 396
Ou = 396
1u—>44

12)4 x 2.80 = 11.20

11.20+-100x 75 = 8.40

154-+-8.40 = 18 R2.80
18x4=72
72 +1=73

Page 2.




13)80

14)$1 + $34 = $35
$3% x 13 = $455
$455 + $1 = $456

15) G : H : L
6 : 9 : 11 x10
60u : 90u : 1i0u
- @ +9

54u 99u 110u

110 + 99 + 54 = 263
4734263 =18
1u>18
11.0U->1980

16)8/12 + 1/12 =9/12
1 —-9/12 = 3/12
6U~>120
1U->20
9U~>180

17)747+5+2+2+13+2 =38 -
7 +7+5+2+2+5+13+2 = 43
38/43 X 100% ~88.37%

18)16u — 40 = 5u + 125

11u-—40 =125
11u = 165
1u >15
2u->30

30 x 50c = 1500c

= $15 , :

$15 + $1.50 = $16.50

Page 3
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